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WIN9S WINS.1 DOS

BA 7
o o X
2.0
23800
o o X
Ver.6 Ver3.1 35000
/ o X X
BASIC o x X
o o X
10 SCREEN3 CLS3
20  WX=10:WY=WX*400/640
30  WINDOW(-WX,-WY)-(WX,WY)
40  LINE(-WX,0)-(WX,0):LINE(O,-WY)-(0O,WY)
50 DEF FNF(X)=A*X*X+B*X+C
60 INPUT" ab,c";A,B,C
70 FOR X=-WX TOWX STEP .01
80 Y=FNF(X)
20 PSET(X,-Y)
100 NEXT X
110 END
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20
30
40

70
80
90
100

WX=10:WY=WX*400/640
WINDOW(-WX,-WY)-(WX,WY)

LINE(-WX,0)-(WX,0):LINE(0,-WY)-(O,WY)
DEF FNF(X)=A*X*X+B*X+C
INPUT " ab,c;AB,C
FOR X=-WX TO WX STEP .01
Y=FNF(X)
PSET(X,-Y)
NEXT X
STOP

Private Sub Form_Click()
Cls
w=28
[=320/w
Line (0, 200)-(639, 200)
Line (320, 0)-(320, 399)
For x = -w Tow Step 0.01

y=x*x-4
m=I1*x+320:n=-*y+ 200
PSet (m, n)

Next x
End Sub

0 CLS3:SCREEN 3

o O oo

WX=10:WY =WX*400/640
WINDOW(-WX ,-WY)-(WX,WY)
LINE(-WX,0)-(WX,0):LINE(0,-WY)-(O,WY)
DEF FNF(X)=A*X*X+B*X+C
INPUT " ab,c;AB,C
FOR X=-WX TO WX STEP .01
Y=FNF(X)
PSET(X,-Y)
NEXT X
END



BASIC

10 CLS3
20 W=10:L=320/W
30 LINE(0,200)-(639,200):LINE(320,0)-(320,399)

40 DEF FNF(X)=A*X*X+B*X+C
50 INPUT" ab,c;AB,C
60 FOR X=-W TOW STEP .01
70 Y=FNF(X)

80  M=L*X+320:N=-L*Y+200
9  PSET (M,N)

100 NEXT X

110 END

BASIC

WX=10:WY=10
SET WINDOW  -WX, WX ,-WY WY
REM SET AXIS COLOR 1
REM DRAW axes
PLOT LINES:-10,0 ;10,0
PLOT LINES:0,10 ;0,-10
DEF F(X)=A*X*X+B*X+C
INPUT " ab,c;AB,C
FOR X=-WX TO WX STEP .01

Y=F(X)
PLOT XY
NEXT X
END



F-BASIC

V-BASIC

BASIC98

N88

BASIC

NEW

o

AUTO

LIST

FILES

X |X|[X]|X

RUN

SAVE

LOAD

X |X[X|X|[X]|X

olo|O|O|Oo|O

X|X[O|X|X|X]|X

X[ X [X|X]|X]|X|X

PRINT

LPRINT

INPUT

REM

LET

GOTO

IF...THEN
...ELSE

OfO0O|O|O|O|O|O

O[O|O|O|X|X|O

Ol]o|O|Oo|O|O|O

OfO0O|O|O|O|O|O

OlO|O|O|O|X|O

FOR...TO
...STEP
..NEXT

GOSUB...
RETURN

DEF FN

READ...
DATA

(el Ne]

OO

(el Ne]

DIM

DEFDBL

LOCATE

RANDO

RND

STOP

END

OlO|O|O|X|O|O

CLS

oOlo|lO0O|O|O|O|O|O

SCREEN

X|o|lo|Oo|o|o|o|O]|O

WINDOW

VIEW

LINE

PSET

CIRCLE

PAINT

oOfo|O0|]O|O|O

X|O[O|O|X|X]|X

*
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F-BASIC V-BASIC BASIC98 N88 BASIC
LOG(X) o o o o o
EXP(X) o o o o o
ABS(X) o o o o o
SQR(X) o o o o o
SGN(X) o o o o o
SIN(X) o o o o o
COS(X) o o o o o
TAN(X) o o o o o
INT(X) o o o o o
XMODY o o o o o
X¥Y o o o o o
NEC PC-9801CE 1 NEC PC-9801CE 20
indows3.1 DOS
BASIC
(20+25)°x 15+ 6 2 SIN ° PRINT INT /2
1. (5+10)/6+4 2.PRINT - 196
3. 220° 4. 20/ -2
5.
10 REM SANKAKUKEI
20 INPUT A
30 INPUT B
40 LET S=A*B/2
50 PRINTS
70 END
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2.

AwbdE

50 PAI=3,14159

10

60 DEF FNF(T) = T-SIN(T)
70 DEF FNG(T)=1-COS(T)

80 FOR T-2*PAI TO 2*PAI STEP .01

90 X=FNF(T):Y=FNG(T)
100 PSET(X,-Y)

110 NEXT T

120 END

28 (1) X=COST,Y=SIN’T

10 REM KYUU REM TAIHEN NO NAGASA
20 INPUT R 20 INPUT "KAKU";A
30 V=4/3*3.14*R"3 30 M=12;N=15
40 S=4*3.14*RN2 40 X=A*3.14159/180
50 PRINTV 50 Y=M"2+N"2-2*M*NCOS(X)
60 PRINT S 60 PRINT "BC=";SQR(Y)
70 END 70 END
IF...THEN
2.1 100
10 REM 1,2,3... 10 REM1 100
20 N=0 20 S=0
30 N=N+1 30 N=0
40 PRINT N 40 N=N+1
50IF N<50 THEN GOTO 30 50 S=S+N
60 END 60 IF N<100 THEN GOTO40
70 PRINTS
80 END
FOR...NEXT
.1 100
10 REM 1 100
20 S=0
30 FOR N=1 TO 100 STEP 1
40 S=S+N
50 NEXT N
60 PRINT S
70 END
1 300
100 200
1 10 3
4. 2
14 (1) Y=2X%4X-1 (2) Y=-2X2-8X-3  (3) Y=2X*+4X+2
8 (1) Y=AX+B (2) Y=AX+A+1
Y =(X*+1)/X
( )
10 40

(2) X=SIN2T, Y=SIN?*T

(3) X=SINT-COST,Y=SINT+COST
(4) X=COS(T+1),Y=SINT
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46.

232

(NEC) BASIC
10
NEC 0OS WINDOWS3.1 F-BASIC
SEKONIC  SR-305S

#include "f1a0Lww3.bi" ‘ WINDOWS3.1
input" ""NZ
open "(La¥fbwin¥testbin¥vcard.dat" forrndout as#2 ‘ open
fidd#2,1asM OJI $
dim A$(64)
for =1to NZ ‘ NZ
*MAIN ‘ 1

open "comO:" as#1 ‘RS232C OPEN

print #1,chr$(63),chr$(13); ‘ 1

AS$(1)=input$(1,#1) ‘1

if A3(1) <> "0"thengoto*ERR
print #1,chr$(16);chr$(65);chr$(13);
print #1,chr$(54);chr$(13);*****
locate 5,2
KEN =KEN+1 ‘
print KEN" " ‘
for 1I=1to 60 ‘1 60 (60)
A$(1)=input$(1,#1)
next |

for K=1to 64 ‘ $(60)-- MOJIH(64)
rset MOJI$=A$(K)
put #2 ‘1
next K
close #1 ‘ CLOSE
next J
close#2
stop
end
*ERR
close#1
if A$(1) <"0" then goto *OWARI
if A(1) >"5" then goto *OWARI
If (A$(1) ="5") or(A$(1)="2") then
input " "K$
if (K$="Y")or(K$="y")or(K$=" ") then
erase A$ : dim A$(64) : goto *MAIN
endif
endif
*OWARI ‘
print "STATAS CODE = ",A$(1)
print "dec",asc (A$(1))
print "HEX" ,hex$(asc(A$(1)))
close#2
stop
end



9600BPS 7bit 2bit
JIS7
1 1
VISUALBASIC BASIC OPEN * COMO*

F-BASICforWindows

F-BASIC97

4STEP A
4STEP
4STEP

BASIC
http://hp.vector.co.jp/authors/VA008683/

10 BASIC
http://web.infoweb.ne.jp/fmw/sl1/fbasi cve/index.htm

http://www.nikonet.or.jp/spring/10basi ¢/10basic.html

http://web.infoweb.ne.jp/fmw/sl1l/fbasicve/
\Y B
http://www.microsoft.com/japan/developer/vbasic/



